=] Content]

P77 flow Technologies
g &

v A Precision Castparts Corporation Company

| VALTAGO BALL Y

Atveze | LLLLTETEE

\NaltaxCo
Features Benefits
@ Wide range of connections and accessories @ Suitable for various applications
@ Solid ball @ Excellent flow characteristics

03-026-0003 e Valtaco



P77 cow Technologies
L4 4

|
LTACO BALL VALVE 26+ Redeed nare oM 5158
||| |‘:I‘i & i‘l iil!li b MAE |I'Zii piudll !i i !iliiii insthifliliatallf I!iil'l

Body

Stem

Gland Packing
Thrust Washer
Stem Seal Follower
Plate Spring
Stop Plate
Handle Nut

Lock Cap

10  Handle

11 Ball

12 Seat

13 Centre Ring

14 Body Seal

15  Screwed End

16 Butt Weld End
17 Socket Weld End
18  Body Bolt

|||||||||||'|""
‘ i
Hidh

(

OCo~NOoOOOorThwnN =

=] Content]

19  Body Nut

%|E

. DN 65 80

. SIZE 21/2" 3"

I BW 62.7 78

Loswo 77 90

0 50 64

A 146 175

N 99 145

e 102 177

D 175 500

- E 715 89

e 140 170

e 114 140

e 100 119

[ wmiexts UNF 1"

Tk 16 23

[ L 11 19

0, v e - 21
e 54 65

——® a0 25 36
' s wmiaxis M12x135

e @% = [ 38 45
1 le o U 75 91
v M6 M8

Top Flange kg 8.5 16

I
R Moot I

100
4
102.3
115.5
82.5
215
161
193
500
108.5
206
175
141

UNF 1"

23
19
21
65
45

M14x115

45
107
M10

25

150
6"
154.1
100
300
176
208
500
135
250
215
169
UNF 1"
23
19
21
65
45
M14x185
45
126
M10
48

03-026-0003 e Valtaco



pA~ > [

|||l|!,'|!“l'l
T

Flow Technologies

|
’I ’II o ’I Iy ]I” T
i “ ‘ 1." 70 - F ‘ Bare = [
e T P e T T L

YALTACO BALL
| VALTAGO BALL Y

| D |

!
3
i

BW
[

17 B
Q V L L M Y o
|
—(®
< M6x10 A
N @ - @; |
el i -
Top Flange Stem
. DN 50 65 80 100
. SIZE 2" 21/2" 3" 4"
I BW 52.5 62.7 78 102.3
Loswo 61.5 77 90 1155
e 50 64 82.5 100
Features: A 146 175 215 300
@ Wide range of connections and accessories B 99 145 161 176
@ Solid ball - Cc 102 177 193 208
D 175 500 500 500
e 715 89 108.5 135
e 140 170 206 250
e 114 140 175 215
e 100 119 141 169
Benefits: [ wmiex1s UNF 1" UNF 1" UNF 1"
@ Suitable for various applications K 16 23 23 23
@ Excellent flow characteristics L] 1 19 19 19
M - 21 21 21
e 54 65 65 65
a0 25 36 45 45
s mixits M12x135 M14x115 M14x185
I 38 45 45 45
U 75 91 107 126
v M6 M8 M10 M10
kg 8.5 16 25 48

I
¥
|

03-026-0003 e Valtaco

Illll Il !III Il l!ll ||| |
DRYNIK PG 0 B( plogies "
e s e I



D~

|||||||||||IwI
‘A
Hidh

Flow Technologies

=] Content]

| |
UL LT UL LT L
LTACO BALL vatveze ||
MMMM|MhmiMmanm
Breakaway torques
Example Example ft 1b.
X 5 §
50 725
100758 32 °F 212 392 ,co / /
} A/ vran
50 — 725 8 // // / / 8
- / ~— — L/ /
S f——= — yavaliv
o LA - : T
-50 0 o 100 200 . / / / / .
2 3 3 3
Nm - °
M DN 65 vent. RB /50 int. FB These diagrams are for PTFE seats.
I DN 80 vent. RB / 65 int. FB
M DN 100 vent. RB / 80 int. FB
M DN 150 vent. RB / 100 int. FB
M Steam
Materials
S 264 2066
7177 Body WCB CF8Mm
7277 stem AISI316L
[7737  Gland Packing Graphite
7477 Thrust Washer PTFE-carbon
[57  stem Seal Follower AISI303
[776 " Plate Spring AISI303
[77  Stop Plate AISI316L / CF8M
[787 Handle Nut AISI303
797 Lock Cap AISI304
7907  Handle CF8M
[ Ball CF8M
277 Seat PTFE
137 Centre Ring CF8M
[147  Body Seal Graphite
[4577  screwed End A105N AISI316L
[16 ButtWeld End A105N AISI316L
[477  Socket Weld End A105N AISI316L
[718" Body Bolt AISI1034 AISI304
7497 Body Nut AISI1034 AISI304

—
et l
R ot et |

03-026-0003 e Valtaco



=] Content]

P27 cow Technologies
| B 4 4

____VALTACO BALL VALVE 26 HEATING JACKE

i
'II
I

_ &
. S &y
e @
N/ : <
4§ N B 357 0o
G A
Dimensions
150/100 6" /4" 255 143 /5" 27 115 30° 143
100/80 4" /3" 211 121 1/, 27 90 30° 121
80/65 37/ 21/ 175 102 1/5" 27 75 30° 102
65/50 217" 127 145 88 /5" 27 60 30° 88

(i:1111/Copyright PCC Flow Technol¢ -l: !
"i1111 riTechnical Modificatipns Rese I i 03-026-0003 e Valtaco heating jacket



